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1. [6] TRUE/FALSE: Write True in each of the following cases if the statement is always
true and provide a brief justification. Otherwise, write False and provide a counterex-
ample or brief justification.

/\ s (a) (WebHW12.4#2) If ¥ and & are vectors in R3 so that ¥ x (0 = 0 (that is, the
_3&——‘7 cross product of vectors v and w), then T is perpendicular to .
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(b) (§13.2#26) If 7 (t) = (t2,In(et), t* — 3t), then the line tangent to 7 (1) is:

Téﬁ—? , (w,y,z}=(1,1,—2)+(2t,§,3t2—3)
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3. A plang’dposition is traced by a p ﬁ?gerized curve: 7,(t) =t*—9 and y,(t) = 2—t (in
érs). Similarly, parameteg#zed curves for a helicopter’s position is z(t) = 6 cos(t)
and y,(t) = 6sin(t) (in pefers). The helicopter’s path is traced below for £ = 0 to 10.

(a) [1] (WebHw13.1#1) As ¢ increases,
indicate the direction of the
helicopter’s path by adding an
arroy to the path graphed.
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(b) [2] (ParametricActivity#1) —4 1

Sketch the path of the plane W
from t = (i% Q -E@ =T il : ;
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Set up the expression that will
return the distance traveled by
the helicopter between (6, 0)
and (5.6568, —2).

Make sure your answer can be
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you do not need to find the
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"(d) [3] (WordProble #‘7")"‘F‘1nd the coordinates~of-afly points where the two paths
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(e) [2] (WordProblem #7) Does the plane ever collide with the helicopter? Provide N
justification for your answer. b
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